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QUESTION 1

Which statement is true concerning spanning tree protocols and HP switches? 

A. ProVision switches use non-standard default cost values 

B. Comware switches have spanning tree enabled, by default 

C. ProVision switches, by default, auto-sense edge ports 

D. Comware switches use their serial number as the switch identifier in the bridge ID 

Correct Answer: C 

 

QUESTION 2

Which statement correctly defines the management capabilities of an HP MultiService Mobility (MSM) access point
(AP)? 

A. The AP only supports controlled mode. 

B. The AP operates in autonomous mode by default, but can be changed to controlled mode. 

C. The AP operates in controlled mode by default, but can be changed to autonomous mode. 

D. The AP only supports autonomous mode. 

Correct Answer: C 

 

QUESTION 3

A company wants a modular switch for the access layer at its main campus and for several branch offices. Which HP
Switch Series is best suited for this role? 

A. HP 11900 

B. HP 12900 

C. HP 5900 

D. HP 5400R 

Correct Answer: C 

 

QUESTION 4

Refer to the exhibit. 
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A network administrator sets up OSPF in part of the network topology shown in the exhibit. The Comware-1 switch is
already configured. The administrator needs to configure ProVision-1 so that: 

-OSPF includes VLANs 10 and 20 in the routing process. 

-

The router ID of 1.1.1.1 is assigned to the switch. 

-

The ProVision-1 switch can successfully build a neighbor adjacency with the Comware-1 switch. Which configuration
should the administrator apply to the ProVision-1 switch to meet these requirements? 

A. 

router-id 1.1.1.1router ospf area 0vlan 10ip ospf area 0vlan 20ip ospf area 0 

B. 

router ospf router-id 1.1.1.1area 0 vlan 10area 0 vlan 20enable 

C. 

router ospfrouter-id 1.1.1.1area 0 vlan 10area 0 vlan 20 

D. 

ip router-id 1.1.1.1router ospfarea 0enablevlan 10 ip ospf area 0vlan 20 ip ospf area 0 

Correct Answer: D 

 

QUESTION 5

Which method of link aggregation do both HP ProVision and Comware switches support? 

A. Static LACP 
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B. Fast Ethernet 

C. Dynamic LACP 

D. Distributed Trunking 

Correct Answer: A 
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